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350 350 1400
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1.8 m L%rn 0.75m
ig. P41 gosauaazan SUTIBUNLIN LG

2 M,=0 -2R(3.0)+350(3.75)+350(2.05)+1400(1.2)=0
R = 6065.8 N = 6.07 kN

LF =0  H5p.9F_2100 = 0
F=4234.64 N = 4.23 kN
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= P+2R - 80 =0 --—- (1)

O AN X-y WANLT
o | .\ Fx Fy
?;o/' ( 40kg 22.94 32.77
A\ ) ) | 0.57P 0.82P
‘G k 55 lp
/< R 0.97R 0.82R
U ' _
4 2 M, =0
‘90 T e P aanuniIny 3.87 ke
2R

unu@ P lu (1) 1@ R = 38 ke

ts9 P=37.9N
USINAUUSD §aas = 373 N
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0 = 303
wiuwzaunnseh B waz C

5282 CD = RsinO = 0.5R
5282 BC = RtanO = 0.577R
2M,.=0

B(CD)-PR = 0
0.5BR=PR B =2P

Z MO = O CX=P

2 M, =0
B C,(BC)-PR=0 C,=0.27P
C = 1.04P

Fig. P4.33 and P4.34

B=2P — 15§
C = 1.04P _~ 603
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7 D 1N

- 8

R=8 kg=78.5N | R=11.31 kg=111N  R=16 kg=157N |
L 453

M=125.6 N g m M= 251 Ngm

M= 125.6 N g m
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Fig. P4.52

tﬁaagiiuaﬂquauﬁga
n) MeaNNanwus 0, P, M

2 M, =0
Pcose | + Psine | -M=0
cose + sine = M/P|

2) Wyx O 138 M=150 N g m
P=200N |=600mm
unuatu n)

e1 =17§ B e =73§
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P \Wau FBD 103U (2)

2 M,=0

80(0.25)+R (sin45)(0.165)
-R_(c0s45)(0.12) =0
R.=R, =943 N < 453

2 F,=0 RB,=R_(sin45)

- RB = 666.67 N

2. F =0 RB.= 746.67 N
Y

R, = 1001 N
\.48.29

Fig. P4.65 and P4.66 I3 R , R
B C
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Tvwszes ¢ ﬁﬁﬂﬁaa«qaﬁ’qgﬂ
A =20 mm R =100 mm
Gf’?q'uﬂu X-y WaEAIBUAIAMI °)
m«ﬁf\m@u{fﬂmqgﬂttﬂﬂaaﬂé’qgﬂ

9 9

MNFINIYN DEH

5282 DE = a/z = 28.28
9282 GE =DE/2 =14.14

T’D']ﬂﬂ"l&llfﬁa‘?]&l CGE
tan 0/2 = GE/R = 14.14/100

0/2 = 89
B =45-8 =373
NNEUKAEN CEB
C = Rsinﬁ = 60 mm
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NFINBIYN AFD Loz AFE /

AF = AD(COSZO) = AE(COSO)
AD=2R AE=R
2R(c0s20) = R(cosO)

2(c0s20) = (cosO) @ - 32.53
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2F, =0
Bcos45-Ccos45+Pcos4o5=0
B-C+P =0 --- (1)
2F, =0
Bsin45+Csin45-Psin45-D=0

rg(;.mz and P4.143 2 M,=0
Psin45(R)-D(R)=0

W wielfjnse1i 98 B, C, D
O = 453 D=0.707P ——- (3)

PX = PY = Pcos4o = 0.707P ttﬁﬂNﬂ13

N1 B wag C us9zeannnu B=(1/2)P
té’usamwjmﬁﬁmqm@uﬁﬂmq C=(3/2)P
D=(1//2)P
se sy A13ete 10

o w



WIS lutduaren D
uazusaUfnnaen B, C
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~(/3/2)B +{/3/2)C-T/2 = 0

-——- (1)
2. F,=0
—P+B/2—C/2+6/3/2)T = 0(2)
2. M_=0
PILSIO9 UL UaINN D P(2a)—B(a)/2+(\/3/2)T(a)=O
l,l,azu,'sqﬂg'jﬁ%mﬁ B, C 2P—B/2+(\/3/2)T =0
o =305 ----(3)
R R T WAaNNII

b B=7P ~_ 303
T =(/ 3)P
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